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QUESTION 1

The pyc le contains ... 

A. a Python interpreter. 

B. Python source code. 

C. compiled Python bytecode. 

D. a Python compiler. 

Correct Answer: C 

 

QUESTION 2

You have the following le. index.py: 

You run the le by executing the following command in the terminal. python index.py Hello What is the expected
oputput? 

A. index.py 

B. ImportError 

C. IndexError 

D. Hello 

Correct Answer: A 

 

QUESTION 3

Which of the following operators can be used with strings? 

1) + 

2) * 

3) 4) in 

A. 1, 2, 3 

B. 1, 2, 4 

C. 1, 2, 3, 4 
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D. 1, 2 

Correct Answer: B 

 

QUESTION 4

The digraph written as #! is used to: 

A. tell an MS Windows OS how to execute the contents of a Python le. 

B. tell a Unix or Unix-like OS how to execute the contents of a Python le. 

C. create a docstring. 

D. make a particular module entity a private one. 

Correct Answer: B 

 

QUESTION 5

What will happen when you attempt to run the following code? 

A. The program will not run due to syntax error. 

B. The program will run and cause an error. 

C. The program will fall into in nite loop, printing 1 on each line. 

D. The program will print 1 on one line only. 

Correct Answer: A 
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